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namn: Datum: Poiing:
6,59 x 10% = 2,94 x40% =
8,21 x 10% = 2,96 x 50% =
3,65 x20% = 4,04 x 90% =
0,7 x70% = 4,27 x20% =
4,55 x70% = 8,2 x 80% =
0,07 x70% = 2,95 %x50% =
2,53 x70% = 4, 18 x 30% =
8, 74 x 70% = 5,21 x 90% =
6,78 x 30% = 0,02 x 50% =
4,04 x20% = 5,82 % 80% =
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namn:

6,59 x 10% = 0.659

8,21 x10% = 0.821

3,65 %x20% =0.73

0,7 x70% = 0.49

4,55 x70% = 3.185

0,07 x70% = 0.049

2,53 x70% = 1.771

8,74 x70% = 6.118

6, 78 x 30% = 2.034

4,04 x 20% = 0.808

Datum:

2,94 x40% = 1.176

2,96 x 50% = 1.48

4,04 x 90% = 3.636

4,27 x 20% = 0.854

8,2 x 80% = 6.56

2,95 x50% = 1.475

4,18 x30% = 1.254

5,21 x90% = 4.689

0,02 x 50% = 0.01

5, 82 x 80% = 4.656
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